
SECTION A-A

A

A

PARTS LIST
DESCRIPTIONPART NUMBERQTYITEM

THRUST BEARING HOUSINGSWR-1102-42M-4511
SHAFT SLEEVESWR-1104-42M-4512
BEARING HOUSING, DRIVE ENDSWR-1105-42M-4513
LOCKNUT, W/ OIL FLINGERSSWR-1106-4514
LOCKNUT, DRIVE ENDSWR-1111-42M-4515
COVER, FEED END BEARINGSWR-1100-42M-4516
THRUST BEARING HOUSING, FEED ENDSWR-1101-42M-4517
SPRING HOUSINGSWR-1112-42M18
KEYSWR-1110-42M-4519
KEYSWR-1109-42M-45110
KEYSWR-1108-42M-45111
KEYSWR-1116-42M-45412
BEARING, DRIVE ENDSWR-1201-42M-45.013113
SPRING KEY,FEED ENDSWR-1201-42M-45.014114
SPRING KEY, DRIVE ENDSWR-1201-42M-45.015115
MAIN SHAFTSWR-1097-42M-45116
SPACER, LOCKNUT/BEARINGSWR-1201-42M-45.017117
SPRINGSWR-1201-42M-45.0181518
LOCK WASHER, DRIVE ENDSWR-1201-42M-45.019219
ROLLER BEARING, FEED ENDSWR-1201-42M-45.020120
HEX CAP SCREW 3/4-10 UNC - 2.75"SWR-1201-42M-45.021821
KINGSBURY BEARING ASSEMBLYSWR-1201-42M-45.022122
KEY, KINGSBURY BEARINGSWR-1201-42M-45.023123
KEY, ROTORSWR-1201-42M-45.024124
HEX CAP SCREW 1/2-13 UNC - 2.00"SWR-1201-42M-45.0251625
HEX CAP SCREW 3/8-16 UNC - 1.50"SWR-1201-42M-45.026226
WASHER 3/8"SWR-1201-42M-45.027227
SPRINGSWR-1201-42M-45.028728
FLAT CS MACHINE SLOT SCREW #10-24 3/4"LGSWR-1201-42M-45.029229
SEAL KITSWR-1201-42M-45.030130

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

SHEET 1  OF 1 

DRAWN

CHECKED

QA

MFG

APPROVED

B.WILSON 1/2/2014

DWG NO

SWR-1201-42M-45

TITLE

  42-1CP QUILL ASSEMBLY SPRING LOADED

SIZE

D
SCALE

REV

0

The information contained herein is confidential and proprietary information
belonging exclusively to Refiner Products Manufacturing, Inc. and shall not be
used or reproduced in any manner, or disclosed to others without the written
permission of Refiner Products Manufacturing, Inc.

MACHINING TOLERANCES UNLESS OTHERWISE NOTED

STANDARD
MACHINE
FINISH

125 REMOVE ALL BURRS
BREAK OUTSIDE EDGES

FRACTIONAL =  ± 1/64"

 
DECIMAL        =   ± .005"
 

ANGLE            =   ±  1/2

STATUS:

MATERIAL:

CUSTOMER:REFERENCE:

CERTIFIED

   QUILL ASSEMBLY

1 2

34 5 8

182815 17 19

13

26 1127

16

25 20 21

23 9

22

24 28146 19

7

12

2530 30 30 30 3029

12


